De’fﬁ*fmfm@ Fhe Samp]e size

How to cheose a sa/m/o)c Stze n to p»’avfc{c acﬂesffec/ M) of

OKQ (CJJ '/Llaj{. M( V"LW\?]\V‘ OF’ Eﬂc}( :2 2’;?: ’\’ﬁ;\- :

Z = & T
E = 2,& — = - %&, 'Y n;;rouv;lypc// vp becase
Vn E ’ Yhe win sample

n will be

sipe sabisbies the E-
g {5 Known  as 1(—0—/ as we Choese Mme C&mt\‘aeuc_t [&E[ ,
41/. ¢ 3f we choose 952 COnprole«cc \wc{/ H'M Z%: Eoz; 1196

e '_[-r 6 15 kvown , Hien we uvse ¢ cOJ‘v’Cc.”C/la'
e Tf 6 15 unkvwown, fhem we use K als o )o(j es/"mal"?j Fhe )e’a"f:)j

Value Fo{ ¢ as follows: — \[ﬂ:@”
1) Use S as Hue qum‘w:j valve 7C:f 6/ whep 5= =
whon He daka are o \abl ¢ in sample-

7’) Sc\u‘\l O\Sowu(\e and eshimale s as e plam'nQ value for 6,

when ¢ there s no Sample.

3) Use 5uo’jm&1{ o,'beﬂlﬁumn for 6. For exmple , o f we knew
Hhe leesl' Valve MJ Hie 5“16(11%5'- \/dbLf/C ‘n e PPU’QJ"\\(’M/ Hm,,
the P,MMI‘@ Valve FJ" £ = Kﬂ-"lﬂ( - Mﬁ;/j_‘n_\fgg( ,
H ’L//’
ﬁm\"“gt’&“‘) How (Wge a sample shodd be selected o fm"”‘cle
qgo/o ceon ﬁ:‘cﬂe«ﬁc l&l/le in ,'P/\fil Wit Ma/rj;‘n UF evov of \o?

[} Assvme Mt Hhe r)o,?dln}\‘om sl‘wﬁm’a{ ooel/\\zu"\‘on s Mol

Z¢:§1g1\~q5 ad &=Yo oad E =10
-2 w0
Uploaded By: Jibreel Bornat

STUDENTS-HUB.com 2 1
n= _%__é__) - .96 (qo)) = 6].”6 ~ g2 ;
E lo 24

@ Assume H\a,{» Yhe Yange of o)ala is %I—v‘ma\led o be 124

= am A -
ﬂlc Pl‘\ﬂmhﬂ V'a,l,uc oC{: iqgc;_l_—‘%-’ 3\

. 2 2
n- (%w) - (Méx';? -36.9 ~37
| = E






